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Grade Boundaries

What is a grade boundary?

A grade boundary is where we set the level of achievement required to obtain
a certain grade for the externally assessed unit. We set grade boundaries for
each grade, at Distinction, Merit and Pass.

Setting grade boundaries

When we set grade boundaries, we look at the performance of every learner
who took the external assessment. When we can see the full picture of
performance, our experts are then able to decide where best to place the
grade boundaries - this means that they decide what the lowest possible
mark is for a particular grade.

When our experts set the grade boundaries, they make sure that learners
receive grades which reflect their ability. Awarding grade boundaries is
conducted to ensure learners achieve the grade they deserve to achieve,
irrespective of variation in the external assessment.

Variations in external assessments

Each external assessment we set asks different questions and may assess
different parts of the unit content outlined in the specification. It would be
unfair to learners if we set the same grade boundaries for each assessment,
because then it would not take accessibility into account.

Grade boundaries for this, and all other papers, are on the website via this
link
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Introduction

This report has been written by the Lead Examiner of Component 3:
Effective Digital Practices, the externally set exam paper for the BTEC
Tech Award in Digital Information Technology qualification.

It is designed to help you understand how candidates performed in this
examination. The report provides you with an analysis of candidate
response to each of the questions in the examination paper, in addition,
candidate responses, with commentaries, will be included.

Following the format outlined in the sample assessment materials, the
previous papers, and the mock paper, published on the Pearson
website, four scenarios were used for this assessment; each scenario
was broken down into several questions which assessed a range of
specification topics, covering all the learning aims outlined in the
specification.

Candidates were expected to demonstrate knowledge and
understanding of the specification topics and apply this knowledge to
the given scenarios.

The extended questions were marked using a ‘levels-based’ approach to
assessment, where the overall quality of the response was considered
rather than the specific number of points gained. There was one
diagram question included, this too was marked using a level-based
approach.

The remainder of the questions on the paper, including the annotation
question, were assessed using a ‘points-based’ approach.
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Introduction to the Overall Performance of the Unit

Generally, candidates coped well with the content, requirements, and
degree of difficulty of the examination paper, with some very good
responses given to the more challenging questions.

However, as in previous series, some candidates often failed to read the
questions carefully and provided responses which did not answer the
question being asked, therefore not receiving marks.

Others failed to gain all the marks available on short response questions
by not looking carefully at the number of marks available for a question.
The marks shown in brackets on the paper indicate the number of
points required in the response.

Some candidates coped well with the long answer questions, where
clear and detailed answers relating to the scenario were required, but in
many instances, candidates showed a lack of knowledge of the overall
specification content with some blank responses.

As in previous series, some challenging handwriting was again evident in
the candidate work, therefore it may be helpful to sample candidate
handwriting prior to examination, so that a potential need for access
arrangements can be identified.
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Individual Questions

Section 1

The first scenario was based on a childcare organisation, Highchair

Nursery, which had received a grant to purchase new laptops to replace
its existing PCs.

Q1a

Candidates were provided with an example, a website, of a
communication platform the nursery could use. Candidates were then
asked to state two other communication platforms the nursery could
use.

Most candidates stated two correct communication platforms. The
most often seen correct responses were ‘email’ and ‘social media’,
however, there were a few who responded with SMS, text message or

just messaging.

Candidates were also awarded marks for suitable proprietary
communication platforms such as Microsoft Team, Twitter, etc. in place
of social media, VolP and direct messaging.

In this example, the candidate was awarded 1mark for response 1
'email communication', however, no mark was awarded for response 2
as 'text messages' is not a communication platform.

(a) A website is one communication platform the nursery could use.
T
State two ather communication platforms the nursery could use.
(2)
1Ml oM CEROYN e
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Here the candidate has stated two correct communication platforms,
‘email’ and ‘direct messaging’. Two marks were awarded.

(a) A website is one communication platform the nursery could use.

State two other communication platforms the nursery could use.

1. Foaons V.

Q1b

The next question expanded on the nursery’s use of a website and
asked the candidate to give two benefits to the nursery of using a
website to communicate with its clients.

Overall, this question was not fully understood by candidates, with
many responses relating to benefits to the client and not the nursery.
Typical responses related to a website being easy, free, and easily
updated.

Responses that gained marks included the 24/7 availability of a
website, can be used for advertising and wider reach.

In this example, the candidate gave two correct benefits to the nursery,
‘communicate globally’ and ‘communicate at any time (2/7, 365) for 2
marks.

(b) Give two benefits to the nursery of using a website to communicate with
its clients.
(2)
Vo Bt SR GO BMANIS AN 9__5\._9}?_951_3 ...........................................................................................................
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However, here, for both response 1 and 2, the candidate has given
benefits to the client and not the nursery, therefore, 0 marks were
awarded.

This is an example of where candidates did not consider the scenario
and did not answer the question being asked.

(b) Give two benefits to the nursery of using a website to communicate with
its clients.

L leaks  cen use Ha u;equs‘ke le ael
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(2)

Q1c

For this question, candidates were asked to identify two ways the nursery
could dispose of its old PCs in an environmentally friendly way.

For this question, most candidates provided two correct responses to
achieve the marks available. Most of the correct ways identified were
recycling, selling and donating.

In this example, the candidate has identified that the PCs can be ‘resold’ and
components ‘reused’ to achieve 2 marks.

(c) Highchair Nursery wants to dispose of its old PCs.

Identify two ways the nursery could dispose of its old PCs in an environmentally
friendly way.
(2)

1 The Pl coud Ve eod to enduiduads. secand.
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However, some replies referred to disposing of the PC's but candidates did
not actually identify a suitable way of disposal, as can be seen in this
example, with 0 marks awarded.

(c) Highchair Nursery wants to dispose of its old PCs,

Identify two ways the nursery could dispose of its old PCs in an environmentally
friendly way.

(2}

ONES  UXE . PIGCIC . NS
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Q1d
This question related to possible external threats to the nursery’s laptops.

Candidates were given the example of malware, as a stimulus, and asked to
state two other possible external threats.

Many candidates were able to recall correct responses and gained the 2
marks available. The most often seen responses were phishing, pharming
and ‘hacking'.

However, some candidates did not fully read the question and stated types
of malware, as can be seen here, therefore, gaining no marks.

(d) The nursery is concerned about possible external threats to its laptops.
One external threat could be malware.

State two other possible external threats.

(2)
LR = B S S
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In this example, the candidate has stated two suitable examples of external
threats, ‘natural disasters’ and ‘'man in the middle attack’ to achieve 2 marks.

(d) The nursery is concerned about possible external threats to its laptops.
One external threat could be malware.

State two other possible external threats.

................................................................................................................. A T TR SRR L8 L LRSS AR AE L LA LLRR SRR AL bbb
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Qle

This was the first of the extended questions and followed on from malware as
an example of an external threat.

Candidates were asked to describe how antivirus software can protect
against malware.

Some candidates found this question difficult and as in previous series,
confused the role of antivirus software with firewall software.

Where candidates were able to demonstrate their knowledge and
understanding, marks were gained for responses such as scanning for
malware, isolating files and alerting the user.

We can see in this example that the candidate has described the role of a
firewall, with only 1 mark awarded for ‘alert the user".

(e) Describe how antivirus software can protect against malware.
(4)

T.€ Cfor € m"‘”m) LA Gym e Mmadense poed
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In this example, the candidate has clearly demonstrated their knowledge
and understanding of antivirus software. They have given ‘scans programs
on the PC', ‘against a list of known threats’, ‘file will be isolated and removed’
‘the user would then be informed'. 4 marks were awarded.

(e) Describe how antivirus software can protect against malware.
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Section 2

This scenario concerned an online travel agency called AwayAgain Holidays.

The main focus of the questions in this section related to the staff working
remotely.

Q2a

Candidates were asked to identify two benefits to staff of working from
home.

The majority of candidates were awarded the two marks available for this
guestion. The most often seen responses related to flexible working hours,
saving on travel time and cost, better work life balance.

However, where candidates had not fully read the question, responses that
would be benefits to the organisation were given, such as needing less
office space.

In this example the candidate achieved a mark for the first response,
‘removes travel cost’, but no marks were awarded for the second response,
as this was a benefit to the organisation, not the staff.

(a) Identify two benefits to staff of working from home.
(2)
Vo Ll hradll O
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The candidate in this example has identified two suitable benefits to staff of
working from home, with 2 marks awarded.

(a) Identify two benefits to staff of working from home.

........................................ &-’J{JJOF}(
2. IWorKRXS.. My fi0d. 1+ easiecand. be moce. produckive ... ’\\'\em

hove._environend. e

Q2b

This question followed on from Q2a with candidates asked to explain one
drawback for staff working of from home.

Most candidates identified correct drawbacks such as loneliness, increased
household bills, distractions, and went on to include an appropriate
explanation of these drawbacks.

However, as with Q2a, some candidates did not fully read the question and
explained drawbacks to the organisation and not the staff, such as the
organisation not being able to monitor the staff.

In this example, the candidate refers to staff becoming lazy as they do not
need to go to work. 0 marks awarded.

(b) Explain one drawback for staff working from home.
(2)

In this example, the candidate has identified the drawback of ‘uses up more
electricity’ and expanded this with ‘this means the bills will cost more for
staff’, to achieve 2 marks.
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(b) Explain one drawback for staff working from home.

Q2c

This was an annotate question, with a possible 4 marks available.

Candidates were told that one of AwayAgain’s staff had received an email
claiming to be from her bank.

Candidates were provided with an example of why the email may not be
genuine and asked to anotate the image to state four other reasons why
the email may not be genuine.

Many candidates achieved the full 4 marks available for this question and
clearly showed their understanding of what may constitute a phishing
email.

There were a few candidates who had not fully read the question or
examined the image and provided the given example as a response, and
lost marks.

In this example the leaner has annotated the image as follows:

e Email - 'suspicious email'
e 'U'-'poor spelling'

e 'you'-'poor spelling'

e Closure - 'informal'

Dear Customer was identified as 'poor grammar', but this is incorrect.
Nonethelss, four correct reasons were given and 4 marks were awarded.
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(c) One of AwayAgain's staff has received an email claiming to be from her bank.

Annotate the Image to state four reasons why she may think the email is
not genuine.

An example has been provided.
(4)

o SUWpICU) emed wires)

/
/
Frowm: help@fraudsguad.google org
To: Betty Morris
Date: 29 June 2022

Subject. Confirm your Details

Dear Cus

:tu%tnu Dlet’;lnm that there is a problem with your log in ID]rm'l- line bank accoount.
P make sure M%rwou to confirm that the information we have for you is
/| | comect and up to date. T e

pedt —
q'{lm' Please follow this link to confirm your deta
i
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Here the candidate has provided two correct reasons why this may be a
phishing email:

e Email - the email doesn't look genuine’
e Cheers - 'the language doesn't sound profetional’

The candidate also annotated Customer Services as ‘no real persons
name... and Fraudsquad Bank '..which isn't a genuine name’, both of which
are incorrect. 2 marks were awarded.
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From: help@fraudsquad.google.org
To: Betty Morris
Date: 29 June 2022

Subject: Confirm your Details

Dear Customer
We are writing to u to let u know that there is a problem with your log in to you online bank acccount.
To make sure that their correct, we just need you to confirm that the information we have for you is

correct and up to date.

Pl.ease follow this link to confirm your detais Update Details * A bank would not ask
you to confirm your

LCheers . details using a link.
| thade Us NO ool peasons
Customer Services NoYle. Pie ermontl Set
“’U-O&JMS 2 Cou.atciﬂ Be O bﬂ
Fraudsquad Bank ]

o the Nnovvie G&’Mswao& vadoh.
Whith BN o ginuurie namMe
{amboﬂk.

the
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Q2d

For this question candidates were told that staff use a messaging app to
communicate with each other.

They were asked to explain two benefits to staff of using a messaging app
to communicate, for 4 marks.

This was not a well answered question with few candidates achieving the
full 4 marks available. Awardable benefits concerned the messaging app’s
use in a work environment, such as security (encryption), status settings,
record of messages, working collaboratively and notifications.

However, many candidates did not fully understand what the question
asked, and provided generic responses such as speed, cost, ease of use and
can be used on different devices.

This response was awarded 1 mark for response 1 - 'saving the sender
individually telling multiple people' (no need to repeat information),
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however, this was not correctly expanded further to access the additional

mark. No marks were awarded for response 2.

(d) Staff use a messaging app to communicate with each other.

Explain two benefits to staff of using a messaging app to communicate,
(4)

A e prof\s Can SeR e G
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Here the candidate was awarded 1 mark for response 1 - ‘allows the staff to
discuss ideas’, implying collaborative working. However, no marks were
awarded for response 2, as it is again related to collaborative working.

(d) Staff use a messaging app to communicate with each other.

Explain two benefits to staff of using a messaging app to communicate.

A csst

\’\19‘( \rJO&\(w\V\ k\\/\x‘; Wi +\nv~\- *\'\{‘3 CA.. W ......

(a)[Q02d |

1.Oune \nm&'\' M& Was o (‘\stuva) A g 0. (DL ke
S abk ho Loppnnsiate o\wg¥\\'\ \\/\tj aous. . Yae.....

&Ao\*«w \ﬁu\esﬁ 18 xW u&s\c Mo n(f\Qm«,

1deasw &M\w& Lo leone o

Owner: VQ Assessment Page 17 of 35

Version 1.0
Issue 1
DCL1



@ Pearson

BTEC

BTEC LE Report 2302

Section 3

The scenario for this section was Help a Heart charity which raises money
for life-saving research. It also explained that the charity had high street
shops where people could donate and purchase items.

Q3a

The first question in this section concerned an IT Acceptable Use Policy, the
charity had, which included the use of work email accounts by staff.

The question expanded to state one example of a rule of the policy was that
staff must not use their work email account to bully or harass.

Candidates were asked to explain one other rule for using their work email
account that could be included in the policy.

Most candidates achieved a mark for this question with the often seen
response of staff not to use their work emails for personal uses, but few
expanded on this for the additional mark available.

The candidate in this example achieved the full 2 marks available for, 'no
inappropriate language’ and ‘so that the company maintains a good,
friendly reputation’

(@) The charity has an IT Acceptable Use Policy, which includes the use of work email
accounts by staff.

One rule of the policy is that staff must not use their work email account to bully
or harass.

Explain one other rule for using their work email account that could be
included in the policy.

(2)
_______________________________________________ ONR, 000 CWEShoudh. D¢ Dok 00, onePpoeie. ..
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In this example the candidate achieved 1 mark for ... not use their work
email for personal issues’, but did not expand on this for the second mark.

(a) The charity has an IT Acceptable Use Policy, which includes the use of work email
accounts by staff.,

One rule of the policy is that staff must not use their work email account to bully
or harass.

Explain one other rule for using their work email account that could be

included in the policy.
(2)

Anotier roce 4f Lie

Q3b

For this question the candidate was told that the charity is trying to be more

environmentally friendly and save on resources.

The question related to usage and settings policies and the candidate was

asked to explain two policies that the charity could use.

Generally, this question was well answered by candidates, with many
correct responses seen relating to power saving settings, auto-power

off/turn off and the use of digital copies.

In this example the candidate was awarded 4 marks. Marks were awarded
for ‘turn off your PC', ‘when you are not using it’; ‘have the brightness turned

down’, ‘to save energy'.

(b) The charity is trying to be more environmentally friendly and save
on resources.
Explain two usage and settings policies it can use to help it do this.
(4)
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Some candidates were confused by the question and provided responses
relating to the disposal of equipment, recycling equipment and general
environmental issues rather than usage and settings to save on resources.

In this example the candidate has misunderstood the question and the
response relates to resources being recylced and the reduced use of
software. No marks were awarded.

{(b) The charity is trying to be more environmentally friendly and save
0N resources.

Explain two usage and settings policies it can use to help it do this.

] _"fhe\j coudd ankcoduce.. G ';,‘olt(‘,% cbonk.
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Q3c

This question related to the charity sharing its donor and donation data
with the head office.

Candidates were asked to explain two drawbacks of sharing this data for 4
marks.

Few candidates were awarded the full marks available but many did achieve
at least two marks. These marks were generally gained from responses
such as data could be intercepted and leaked/stolen. Some candidates
recognised the possible legal drawbacks such as DPA/GDPR and the
resulting financial implications.

The candidate in this example achieved 2 marks for ‘could be illegal’ and
‘could be sued’, both in response 2. No marks were awarded for response 1.
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(c) Staff at the shops record data about the donors and the donations received.
This data is shared with the charity's head office.

Explain two drawbacks of sharing this data.
(4)

1. This. dater Couldd...CONSISE. o). PRXSONAL. P Makton. e, 1F. Saaved,
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This candidate also achieved 2 marks for ‘a hacker might try to see the
information’, 'to steal it'. Both marks were awarded for response 1, no
marks were given for response 2.

(c) Staff at the shops record data about the donors and the donations received.
This data is shared with the charity’s head office.

Explain two drawbacks of sharing this data.
{4)
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Q3d

This was the ‘draw’ question, the first of the levels-based mark questions with a
total of 6 marks available to candidates.

An example process was provided, and candidates were asked to draw a
flowchart to represent this.

Most candidates expressed the logical flow using the correct shapes, flow lines
and annotations, with 6-mark responses, very much like the example given on
the mark scheme. However, some candidates did not know how to construct a
flow chart and provided a system flow diagram or an information flow
diagram.

Poor responses typically listed all the stages with lines in-between.

As seen in previous series, this first example shows that the candidate has
copied the process directly from the paper and put the steps in boxes. This is
not a flow chart and was not awarded any marks.
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Draw a flow chart diagram to illustrate this part of process.
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In this example, the candidate has provide partial coverage of the
appropriate notations and partially meets the requirements of the scenario,
which meets the descriptors for Mark Band 1.

Mark Band 1 descriptors:

e Diagram provides partial coverage of appropriate notation with limited

connections.
e Diagram partially meets the requirements of the scenario.
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(6)
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The candidate in this example has clearly understood the process described
and had developed a diagram that mostly covers the appropriate notations
and meets most of the requirements of the scenario, which meets the
descriptors for Mark Band 3.

Although there are some differences, in terms of additional decisions, these
are nonethless appropriate.

Mark Band 3 descriptors:

e Diagram provides most coverage of appropriate notation with most
connections.

e Diagram meets most requirements of the scenario.
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Section 4

For section 4 the scenatrio related to Parandam, which was a company that
designed and made unique pieces of jewellery.

Candidates were told that the company stored its jewellery designs and
customer data on its digital system.

Q4a

This question related to the possible impact of a security breach on the
company. As a stimulus, candidates were given data loss as an example
impact of a security breach.

Candidates were asked to explain one other impact of a security breach for
the company.

Many candidates were able to apply their knowledge and understanding of
the topic, achieving the two marks available. The most popular responses
related to the company’s loss of reputation, mistrust/loss of customers and
financial loss.

However, a significant number of candidates responded with data loss,
which was the example given in the question, as can be seen in this
example i.e. ‘the designs are stolen...".

(a) A security breach would have an impact on the company.
One possible impact of a security breach would be data loss.

Explain one other impact of a security breach.

(2)
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In the following example, the candidate has been awarded two marks for
‘break the Data Protection Policy’ and ‘legal issues’. The candidate also
refered to the loss of reputation, however the two marks available had
already been achieved.

(a) A security breach would have an impact on the company.
One possible impact of a security breach would be data loss.

Explain one other impact of a security breach.
(2}

\,u\'\\ olg e \,\“.ve S o \eﬂ« siues ko o urow \,\Jp“‘\,\\ e

("Q_l?\-'\\rak\o.\ ‘-‘Q E\’W. Comn ) o

. TSP PP

L

Q4b

This question centred on the benefit of net neutrality, specifically for small
businesses. Candidates were asked to describe how net neutrality
couldbenefit small companies.

Very few candidates achieved marks for this question. There appeared to be
little knowledge or understanding of net neutrality, with the majority of
responses related to issues such as increased profit, increased growth,
protect from hackers.

Correct responses referred to internet traffic being treated equally but few
candidates were able to expand on this for additional marks.

This candidate achieved two marks for ‘big companys cant pay to have their
websites sped up’ and ‘and others slowed down'. Referring to the fact that
wealthier companies must not be favoured over those who cannot afford to
pay and that internet speeds must not be slowed down/throttled.
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Describe how net neutrality can benefit small companies.
(3)

Nek mtm[i[ﬁ% Con benpt sonll coopons.
0 b meny . L Lomanys....Lonk Dag o labe......
L0 urlr%” oA o&[nu‘f! Slontd.. doin
NN amdiw C,Umﬂaﬂ% Loow \d gt Ack. be
Obte. ko @Pcr/f € (1//;/.50 b gies  hae
SMalel comM ponies 0 daace Q(/C'/J,Hm bigge) Compuis.

“E}
c:._

Q4c

This question concerned the company’s digital system which was kept on-
site at the company’s premises and is another levels-based mark question.

Candidates were told that user access security was important to protect the
company’s digital system and then asked to discuss the user accesss
restriction methods the company could use.

Overall, candidates were able to demonstrate their knowledge and
understanding of user access restriction methods, however, not always as a
discussion.

Some candidates listed the methods, without expanding further on their
use. Passwords, levels of access, 2FA and biometrics were the most
common access restrictions discussed.

This example of a Mark Band 1 discussion, appears to relate to two factor
authentication, while the candidate has not mentioned this method by
name, it is what they are implying and they understand how it works.

Mark Band 1 descriptors:

e Demonstrates isolated elements of knowledge and understanding,
with major gaps or omissions.

e Few of the points made will be relevant to the context in the
question.

e Limited discussion which contains generic assertions rather than
considering different aspects and the relationship between them.
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Discuss the user access restriction methods the company could use,
(6)
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This is another Mark Band 1 response. The candidate has provided a list of
user access restriction methods, however there is no clear discussion about
their use.

Discuss the user access restriction methods the company could use.
(6)
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This is an example of Mark Band 3 work. The candidate has demonstrated
their knowledge and understanding by including a well-developed
discussion covering a range of appropriate user access restriction methods.

Mark Band 3 descriptors:

e Demonstrates mostly accurate and detailed knowledge and understanding.

e Most of the points made will be relevant to the context in the question, and
there will be clear links.

e Displays a well-developed and logical discussion which clearly considers a
range of different aspects and considers how they interrelate, in a
sustained way.

4.c

The company could use biemetrics such as finger print to access the digital systems room which
means that it could only be accessed with an authorised member of staff present. this means that
they are at least sure that nobody can get in without a member of their staff present which
elimates any external theft possibility. biometrics is expensive though but is the most secure out
of them all especially if they combine it with other methods such as username and password
which would require the staff member to enter a username and password and then their
biometric. A username and password restriction method could be good if the password is secure
but this could also be bad as secure passwords are hard to memorise. a combination of biometrics
and usernames and passwords could be very useful to ensure user data is protected and would be
worth the investment to avoid repuation and finacial loss. another method would also be two

factor authencation which is when a code is sent to your email everytime you login to prove that

it is you that is there but the intruder could have access to your email so this method might not
work as well. there is also a key that could be used by that key could be stolen or employees could
make multiple cuts of the key incase they get fired so this might not be the most secure method
but it is the cheapest. Another method would be staff lanyards which is also cheap but can easlly
be lost or stolen. The best overall option for Paradam would be a username and password system
that' is then verified by a biometric such as a finger print. this would require a username and
password to be typed in by an employee and then have them scan their fingerprint. this would
make it difficut! for people to break in and steal data or trade secrets or cause sabotage to their

digital system.
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Q4d

This was the last question and the final level mark question.

It expands the scenario further with Parandam considering using cloud
technologies to store and backup it's data.

Candidates were asked to assess the factors the company should consider
when choosing cloud technologies.

A significant number of candidates misunderstood the question and
presented features and the benefits and drawbacks of cloud storage and
backup, such as needing internet, that it is available 24/7, accessibility
features, collaboration, availability on devices.

Whereas, expected responses should have centred on factors such as
disaster recovery, security, compatibility, storage, maintenance, customer
support, implementation, downtime, performance, training and cost.

Many candidates included factors such as storage and scalability, automatic
backup, where the data would be stored and security, although not always
in the context of the question. Where candidates had understood the
context, many relevant responses were seen.

In this example the candidate talks about internet 24/7 which is not relevant
to the question. However, they do mention automatic backup, which is part
of disaster recovery considerations, but their reponse is not in this context.
They also talk about storage and whether this is scalable, which is relevant
to the scenario.

There is isolated knowledge, only one of the points is relevant and it is a
limited assessment, therefore, the candidate work meets some of the
descriptors for Mark Band 1.

Mark Band 1 descriptors:

e Demonstrates isolated knowledge and understanding, there be major gaps
or omissions.

e Few of the points made will be relevant to the context in the question.

e Limited assessment which contains generic assertions rather than
considering the factors or events and their relative importance, leading to a
conclusion which is superficial or unsupported.
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This candidate has understood what was asked for in the question.

They have identified relevant factors such as price, extra features (Office
365), capacity (storage) and maintenance.

They have expanded somewhat on these factors and have provided a
logical but not a well-developed assessment. However, there are some
weaknesses in the consideration of the factors.

The work meets some of the descriptors for Mark Band 3.
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Mark Band 3 descriptors:

e Demonstrates mostly accurate and thorough/detailed knowledge and

understanding.

e Most of the points made will be relevant to the context in the question, and

there will be clear links.

o Displays a well-developed and logical assessment which clearly considers
the factors or events and their relative importance, leading to a supported

conclusion.
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Summary

As previously mentioned in this report, candidates generally
performed well in this series.

It is recommended that candidates should:

e Ensure that they read the questions thoroughly.

e Be guided to look for example responses given in questions.

e Relate their responses to the scenario that has been given for each
section.

e Understand the requirements of the command verbs typically used in
this paper, specifically the extended questions e.g.

o Explain - this requires candidates to identify an example and
expand to provide a linked explanation e.g., lower maximum data
transfer speed (1) because they use a shared connection (1)

o Describe - this requires candidates to provide a set by step
description, generally a step for each mark available e.g. create
to do lists (1) and set deadlines (1) then activate reminders (1)

e Plan the structure of their responses for the extended 6 mark and 9
mark questions, to ensure that there is no repeated information in
their responses, this will help to keep their answers focused.

e Ensure that where implications are asked for, that both benefits and
drawbacks are considered.

e Sample assessment materials (SAMs) and previous exam materials are
located on the BTEC Tech Award in Digital Information Technology
qualification webpage located here.
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